

*Grażyna Krech, Eugeniusz Wachnicki*

**Approximation by some combinations of the Poisson integrals for Hermite and Laguerre expansions**

**Abstract.** The aim of this paper is the study of a rate of convergence of some combinations of the Poisson integrals for Hermite and Laguerre expansions. We are able to achieve faster convergence for our modified operators over the Poisson integrals. We prove also the Voronovskaya type theorem for these new operators.

**1. Introduction**

In recent years, several classical positive linear operators, for instance the Szász-Mirakyan, Baskakov-Durrmeyer operators, have been investigated intensively. There have been proposed some modifications of these operators, which have a better rate of convergence than the classical operators (see [1, 8]).

This work presents a new modification of the Poisson integrals for Hermite and Laguerre expansions. We obtain certain positive linear operators, which have better error estimation than the Poisson integrals studied in [2, 4]. Moreover, this modification makes it possible to state the Voronovskaya type formula for these Poisson integrals.

For the function  $f \in L^p(e^{-z^2})$ ,  $p \geq 1$  ( $f$  is defined on  $\mathbb{R}$ ), the Poisson integral for Hermite polynomial expansion is defined by

$$F(f)(x, y) = F(f; x, y) = \int_0^1 T(x, r)A(f; r, y) dr, \quad x > 0, y \in \mathbb{R}, \quad (1)$$

where

$$T(x, r) = \frac{x \exp(\frac{x^2}{2 \ln r})}{(2\pi)^{\frac{1}{2}} r (-\ln r)^{\frac{3}{2}}},$$

$$A(f; r, x) = \int_{-\infty}^{\infty} P(r, x, z) f(z) e^{-z^2} dz, \quad 0 < r < 1, x > 0,$$

$$P(r, x, z) = \sum_{n=0}^{\infty} \frac{r^n H_n(x) H_n(z)}{\sqrt{\pi} 2^n n!} = \frac{1}{\sqrt{\pi(1-r^2)}} \exp\left(\frac{-r^2 x^2 + 2r x z - r^2 z^2}{1-r^2}\right),$$

and  $H_n$  is the  $n$ -th Hermite polynomial,  $n = 0, 1, 2, \dots$  (see, for instance, [6]). We note that

$$\begin{aligned} H_0(z) &= 1, & H_1(z) &= 2z, & H_2(z) &= 4z^2 - 2, \\ H_3(z) &= 8z^3 - 12z, & H_4(z) &= 16z^4 - 48z^2 + 12. \end{aligned}$$

The Poisson integral of a function  $f \in L^p(z^\alpha e^{-z})$ ,  $p \geq 1$ ,  $\alpha > -1$  ( $f$  is defined on  $\mathbb{R}_+ = [0, \infty)$ ) for Laguerre polynomial expansion is defined by

$$G(f)(x, y) = G(f; x, y) = \int_0^1 T\left(\frac{x}{\sqrt{2}}, r\right) B(f; r, y) dr, \quad x > 0, y \in \mathbb{R}_+, \quad (2)$$

where

$$\begin{aligned} B(f; r, x) &= \int_0^\infty K(r, x, z) f(z) z^\alpha e^{-z} dz, \quad 0 < r < 1, x > 0, \\ K(r, x, z) &= \sum_{n=0}^\infty \frac{r^n n!}{\Gamma(n + \alpha + 1)} L_n^\alpha(x) L_n^\alpha(z) \\ &= \frac{(rxz)^{-\frac{\alpha}{2}}}{1-r} \exp\left(\frac{-r(x+z)}{1-r}\right) I_\alpha\left(\frac{2(rxz)^{\frac{1}{2}}}{1-r}\right), \end{aligned}$$

$I_\alpha$  is the modified Bessel function given by

$$I_\alpha(s) = \sum_{n=0}^\infty \frac{s^{\alpha+2n}}{2^{\alpha+2n} n! \Gamma(\alpha + n + 1)}$$

(see [3]), and  $L_n^\alpha$  is the  $n$ -th Laguerre polynomial,  $n = 0, 1, 2, \dots$  (see, for instance, [6]). We note that

$$\begin{aligned} L_0^\alpha(s) &= 1, \\ L_1^\alpha(s) &= 1 + \alpha - s, \\ L_2^\alpha(s) &= \frac{1}{2}[(\alpha + 1)(\alpha + 2) - 2(\alpha + 2)s + s^2], \\ L_3^\alpha(s) &= \frac{1}{6}[(\alpha + 1)(\alpha + 2)(\alpha + 3) - 3(\alpha + 2)(\alpha + 3)s + 3(\alpha + 3)s^2 - s^3], \\ L_4^\alpha(s) &= \frac{1}{24}[(\alpha + 1)(\alpha + 2)(\alpha + 3)(\alpha + 4) - 4(\alpha + 2)(\alpha + 3)(\alpha + 4)s \\ &\quad + 6(\alpha + 3)(\alpha + 4)s^2 - 4(\alpha + 4)s^3 + s^4]. \end{aligned}$$

Muckenhoupt obtained the following results.

**THEOREM 1.1** ([4])

If  $f \in L^p(e^{-z^2})$ , then  $F(f; x, \cdot) \in L^p(e^{-z^2})$  for  $x > 0$  and

- (a)  $\|F(f; x, \cdot)\|_p \leq \|f\|_p$ ,  $1 \leq p \leq \infty$ ,
- (b)  $\|F(f; x, \cdot) - f\|_p \rightarrow 0$  as  $x \rightarrow 0^+$  for  $1 \leq p < \infty$ ,

- (c)  $\lim_{x \rightarrow 0^+} F(f; x, y) = f(y)$  almost everywhere,  $1 \leq p \leq \infty$ ,
- (d)  $\frac{\partial^2 F}{\partial x^2} + \frac{\partial^2 F}{\partial y^2} - 2y \frac{\partial F}{\partial y} = 0$  in  $\Omega = \{(x, y) : x > 0, y \in \mathbb{R}\}$ ,

where  $\|f\|_p$  denotes the norm in  $L^p(e^{-z^2})$  of a function  $f$  defined on  $\mathbb{R}$ .

**THEOREM 1.2 ([4])**

If  $f \in L^p(z^\alpha e^{-z})$ , then  $G(f; x, \cdot) \in L^p(z^\alpha e^{-z})$  and

- (a)  $\|G(f; x, \cdot)\|_p \leq \|f\|_p$ ,  $1 \leq p \leq \infty$ ,
- (b)  $\|G(f; x, \cdot) - f\|_p \rightarrow 0$  as  $x \rightarrow 0^+$  for  $1 \leq p < \infty$ ,
- (c)  $\lim_{x \rightarrow 0^+} G(f; x, y) = f(y)$  almost everywhere in  $[0, \infty)$ ,  $1 \leq p \leq \infty$ ,
- (d)  $\frac{\partial^2 G}{\partial x^2} + y \frac{\partial^2 G}{\partial y^2} + (\alpha + 1 - y) \frac{\partial G}{\partial y} = 0$  in  $\Omega = \{(x, y) : x > 0, y \geq 0\}$ ,

where  $\|f\|_p$  denotes the norm in  $L^p(z^\alpha e^{-z})$  of a function  $f$  defined on  $\mathbb{R}_+$ .

In the paper [2] some estimations of the rate of convergence of the integrals  $F$  and  $G$  were given. The following theorems were proved.

**THEOREM 1.3 ([2])**

If  $f \in C(\mathbb{R}) \cap L^p(e^{-z^2})$ , then

$$|F(f; x, y) - f(y)| \leq 3\omega(f, \mu_x(y))$$

for  $x > 0$  and  $y \in \mathbb{R}$ , where

$$\mu_x(y) = \left( y^2(1 - 2e^{-\sqrt{2}x} + e^{-2x}) + \frac{1}{2}(1 - e^{-2x}) \right)^{\frac{1}{2}}$$

and  $\omega(f, \delta)$  is the classical modulus of continuity of function  $f$ .

**THEOREM 1.4 ([2])**

If  $f \in C(\mathbb{R}_+) \cap L^p(z^\alpha e^{-z})$ , then

$$|G(f; x, y) - f(y)| \leq 3\omega(f, \mu_{\alpha, x}(y))$$

for  $x > 0$  and  $y \geq 0$ , where

$$\begin{aligned} \mu_{\alpha, x}(y) &= \left( y^2 - 2y^2 e^{-x} + y^2 e^{-\sqrt{2}x} + 2(\alpha + 2)ye^{-x} - 2(\alpha + 2)ye^{-\sqrt{2}x} \right. \\ &\quad \left. - 2(\alpha + 1)y + 2(\alpha + 1)ye^{-x} + (\alpha + 2)(\alpha + 1)(1 - 2e^{-x} + e^{-\sqrt{2}x}) \right)^{\frac{1}{2}}. \end{aligned}$$

Since

$$\begin{aligned} \lim_{x \rightarrow 0^+} \frac{\mu_x^2(y)}{x} &= y^2(2\sqrt{2} - 2) + 1, \\ \lim_{x \rightarrow 0^+} \frac{\mu_{\alpha, x}^2(y)}{x} &= (2 - \sqrt{2})(y^2 + (\alpha + 1)(\alpha + 2) + 2y(\alpha + 2)(\sqrt{2} - 1) - 2y(\alpha + 1)), \end{aligned}$$

we conclude that

$$|F(f; x, y) - f(y)| \leq K_1(y)\omega(f, \sqrt{x})$$

and

$$|G(f; x, y) - f(y)| \leq K_2(y, \alpha)\omega(f, \sqrt{x}),$$

where  $K_1(y)$ ,  $K_2(y, \alpha)$  are positive constants.

## 2. The new integrals $H$ and $L$

In the present section we will propose some combinations of the operators  $F$  and  $G$ . Our new operators have a better rate of convergence than the Poisson integrals given by (1) and (2).

We define the operator  $H(f)$  by

$$H(f)(x, y) = H(f; x, y) = 2F(f; x, y) - F(f; 2x, y), \quad x > 0, y \in \mathbb{R}. \quad (3)$$

It is easy to observe that operator  $H(f)$  is linear and positive.

Let  $e_i(z) = z^i$ ,  $i = 1, 2, 3, 4$ ,  $e_0(z) \equiv 1$  and  $\psi_y(z) = z - y$ . From

$$\int_0^1 T(x, r)r^n dr = \exp\left(- (2n)^{\frac{1}{2}}x\right), \quad n = 0, 1, 2, \dots$$

(see [4]) and by (3) we get the following lemmas.

### LEMMA 2.1

Let  $x > 0$ . For each  $y \in \mathbb{R}$  it follows

$$\begin{aligned} H(e_0; x, y) &= H_0(y) = 1, \\ H(e_1; x, y) &= \frac{1}{2}H_1(y)(2e^{-\sqrt{2}x} - e^{-2\sqrt{2}x}), \\ H(e_2; x, y) &= \frac{1}{4}H_2(y)(2e^{-2x} - e^{-4x}) + \frac{1}{2}, \\ H(e_3; x, y) &= \frac{1}{8}H_3(y)(2e^{-\sqrt{6}x} - e^{-2\sqrt{6}x}) + \frac{3}{4}H_1(y)(2e^{-\sqrt{2}x} - e^{-2\sqrt{2}x}), \\ H(e_4; x, y) &= \frac{1}{16}H_4(y)(2e^{-2\sqrt{2}x} - e^{-4\sqrt{2}x}) + \frac{3}{4}H_2(y)(2e^{-2x} - e^{-4x}) + \frac{3}{4}. \end{aligned}$$

### LEMMA 2.2

Let  $x > 0$ . For each  $y \in \mathbb{R}$  we have

$$\begin{aligned} H(\psi_y; x, y) &= \frac{1}{2}H_1(y)(2e^{-\sqrt{2}x} - e^{-2\sqrt{2}x} - 1), \\ H(\psi_y^2; x, y) &= \frac{1}{4}H_2(y)(2e^{-2x} - e^{-4x} - 1) - yH_1(y)(2e^{-\sqrt{2}x} - e^{-2\sqrt{2}x} - 1), \\ H(\psi_y^4; x, y) &= \frac{1}{16}H_4(y)(2e^{-2\sqrt{2}x} - e^{-4\sqrt{2}x} - 1) \end{aligned}$$

$$\begin{aligned} & -\frac{1}{2}yH_3(y)(2e^{-\sqrt{6}x} - e^{-2\sqrt{6}x} - 1) \\ & +\frac{3}{4}H_2(y)(1 + 2y^2)(2e^{-2x} - e^{-4x} - 1) \\ & -H_1(y)(3y + 2y^3)(2e^{-\sqrt{2}x} - e^{-2\sqrt{2}x} - 1). \end{aligned}$$

Applying Lemma 2.2 and the L'Hospital's Rule we obtain the result.

LEMMA 2.3

For every fixed  $y \in \mathbb{R}$  we have

$$\lim_{x \rightarrow 0^+} \frac{H(\psi_y; x, y)}{x^2} = -4y, \quad \lim_{x \rightarrow 0^+} \frac{H(\psi_y^2; x, y)}{x^2} = 4, \quad \lim_{x \rightarrow 0^+} \frac{H(\psi_y^4; x, y)}{x^2} = 0.$$

According to the arguments of the paper [2], the results of Lemma 2.2 and Lemma 2.3 we shall state the estimation of the rate of approximation of  $f$  by  $H(f)$ .

THEOREM 2.4

If  $f \in C(\mathbb{R}) \cap L^p(e^{-z^2})$ , then

$$|H(f; x, y) - f(y)| \leq 3\omega(f, \mu_x^*(y)) \leq K(y)\omega(f, x)$$

for  $x > 0$  and  $y \in \mathbb{R}$ , where  $\mu_x^*(y) = (H(\psi_y^2; x, y))^{\frac{1}{2}}$  and  $K(y)$  is a positive constant.

REMARK 2.5

Drawing a comparison between Theorem 1.3 and Theorem 2.4 we notice that the approximation order of the operator  $H(f)$  is essentially better than that of  $F(f)$ .

We shall define the operator  $L(f)$  for the function  $f \in L^p(z^\alpha e^{-z})$ :

$$L(f)(x, y) = L(f; x, y) = 2G(f; x, y) - G(f; 2x, y), \quad x > 0, y \in \mathbb{R}_+. \quad (4)$$

The operator  $L(f)$  is linear and positive and by simple calculation we get the following lemmas.

LEMMA 2.6

Let  $x > 0$  and  $\alpha > -1$ . For each  $y \in \mathbb{R}_+$  it follows

$$\begin{aligned} L(e_0; x, y) &= L_0^\alpha(y) = 1, \\ L(e_1; x, y) &= L_1^\alpha(y)(1 + e^{-2x} - 2e^{-x}) + yL_0^\alpha(y), \\ L(e_2; x, y) &= -2L_2^\alpha(y)(1 + e^{-2\sqrt{2}x} + 2e^{-\sqrt{2}x}) \\ &\quad + 2(\alpha + 2)L_1^\alpha(y)(1 + e^{-2x} - 2e^{-x}) + y^2L_0^\alpha(y), \\ L(e_3; x, y) &= 6L_3^\alpha(y)(1 + e^{-2\sqrt{3}x} - 2e^{-\sqrt{3}x}) \\ &\quad - 6(\alpha + 3)L_2^\alpha(y)(1 + e^{-2\sqrt{2}x} - 2e^{-\sqrt{2}x}) \\ &\quad + 3(\alpha + 3)(\alpha + 2)L_1^\alpha(y)(1 + e^{-2x} - 2e^{-x}) + y^3L_0^\alpha(y), \end{aligned}$$

$$\begin{aligned}
L(e_4; x, y) &= -24L_4^\alpha(y)(1 + e^{-4x} - 2e^{-2x}) \\
&\quad + 24(\alpha + 4)L_3^\alpha(y)(1 + e^{-2\sqrt{3}x} - 2e^{-\sqrt{3}x}) \\
&\quad - 12(\alpha + 4)(\alpha + 3)L_2^\alpha(y)(1 + e^{-2\sqrt{2}x} - 2e^{-\sqrt{2}x}) \\
&\quad + 4(\alpha + 4)(\alpha + 3)(\alpha + 2)L_1^\alpha(y)(1 + e^{-2x} - 2e^{-x}) + y^4L_0^\alpha(y).
\end{aligned}$$

LEMMA 2.7

Let  $x > 0$  and  $\alpha > -1$ . For each  $y \in \mathbb{R}_+$  we have

$$\begin{aligned}
L(\psi_y; x, y) &= L_1^\alpha(y)(1 + e^{-2x} - 2e^{-x}), \\
L(\psi_y^2; x, y) &= -2L_2^\alpha(y)(1 + e^{-2\sqrt{2}x} - 2e^{-\sqrt{2}x}) \\
&\quad + 2(\alpha + 2 - y)L_1^\alpha(y)(1 + e^{-2x} - 2e^{-x}), \\
L(\psi_y^4; x, y) &= -24L_4^\alpha(y)(1 + e^{-4x} - 2e^{-2x}) \\
&\quad + 24(\alpha + 4 - y)L_3^\alpha(y)(1 + e^{-2\sqrt{3}x} - 2e^{-\sqrt{3}x}) \\
&\quad - 12((\alpha + 4)(\alpha + 3) - 2y(\alpha + 3) + y^2)L_2^\alpha(y)(1 + e^{-2\sqrt{2}x} - 2e^{-\sqrt{2}x}) \\
&\quad + 4((\alpha + 4)(\alpha + 3)(\alpha + 2) - 3y(\alpha + 3)(\alpha + 2) \\
&\quad + 3y^2(\alpha + 2) - y^3)L_1^\alpha(y)(1 + e^{-2x} - 2e^{-x}).
\end{aligned}$$

From Lemma 2.7 we obtain the result.

LEMMA 2.8

For every fixed  $y \in \mathbb{R}_+$ ,

$$\lim_{x \rightarrow 0^+} \frac{L(\psi_y; x, y)}{x^2} = L_1^\alpha(y), \quad \lim_{x \rightarrow 0^+} \frac{L(\psi_y^2; x, y)}{x^2} = 2y, \quad \lim_{x \rightarrow 0^+} \frac{L(\psi_y^4; x, y)}{x^2} = 0.$$

Using the arguments of the paper [2] and the above lemmas we can state the following estimation.

THEOREM 2.9

If  $f \in C(\mathbb{R}_+) \cap L^p(z^\alpha e^{-z})$ , then

$$|L(f; x, y) - f(y)| \leq 3\omega(f, \mu_{\alpha, x}^*(y)) \leq K_1(y)\omega(f, x)$$

for  $x > 0$  and  $y \in \mathbb{R}_+$ , where  $\mu_{\alpha, x}^*(y) = (L(\psi_y^2; x, y))^{\frac{1}{2}}$  and  $K_1(y)$  is a positive constant.

REMARK 2.10

Drawing a comparison between Theorem 2.9 and Theorem 1.4 we notice, similarly to the results for  $H(f)$ , that the approximation order of  $L(f)$  is essentially better than that of  $G(f)$ .

### 3. The Voronovskaya type theorem

The Voronovskaya theorem for some Poisson integrals for Hermite and Laguerre expansions was established by Toczec and Wachnicki in [7] and also studied by Özarıslan and Duman in [5]. In this section we present the Voronovskaya type theorem for the operators  $H(f)$  and  $L(f)$ .

**THEOREM 3.1**

Let  $y \in \mathbb{R}$ . If  $f \in L^\infty(\mathbb{R})$  and  $f$  is a continuous, differentiable function in the neighbourhood of the point  $y \in \mathbb{R}$  and  $f''(y)$  exists, then

$$\lim_{x \rightarrow 0^+} \frac{H(f; x, y) - f(y)}{x^2} = -4yf'(y) + 2f''(y).$$

*Proof.* We remark that

$$f(t) = f(y) + (t - y)f'(y) + \frac{1}{2}(t - y)^2 f''(y) + \phi(t, y)(t - y)^2$$

and  $\phi$  is a bounded and continuous function of the variable  $t$  and

$$\lim_{t \rightarrow y} \phi(t, y) = 0.$$

In the sequel

$$H(f; x, y) = f(y) + f'(y)H(\psi_y; x, y) + \frac{1}{2}f''(y)H(\psi_y^2; x, y) + H(\phi(t, y)\psi_y^2; x, y).$$

By Lemma 2.3 we have

$$\lim_{x \rightarrow 0^+} \frac{H(f; x, y) - f(y)}{x^2} = -4yf'(y) + 2f''(y) + \lim_{x \rightarrow 0^+} \frac{H(\phi(t, y)\psi_y^2; x, y)}{x^2}.$$

We prove that

$$\lim_{x \rightarrow 0^+} \frac{H(\phi(t, y)\psi_y^2; x, y)}{x^2} = 0. \tag{5}$$

Let  $\varepsilon > 0$ . There exists a number  $\delta > 0$  such that  $|\phi(t, y)| < \frac{\varepsilon}{2}$  for  $|t - y| < \delta$ . Moreover, there is a number  $M > 0$  such that  $|\phi(t, y)| < M$  for  $t \in \mathbb{R}$ . Hence

$$\begin{aligned} & H(\phi(t, y)\psi_y^2; x, y) \\ &= \int_{|z-y| < \delta} \int_0^1 (2T(x, r) - T(2x, r))P(r, y, z)\phi(z, y)\psi_y^2(z)e^{-z^2} dr dz \\ & \quad + \int_{|z-y| \geq \delta} \int_0^1 (2T(x, r) - T(2x, r))P(r, y, z)\phi(z, y)\psi_y^2(z)e^{-z^2} dr dz \\ &= I_1 + I_2 \end{aligned}$$

and

$$\begin{aligned} |I_1| &\leq \varepsilon \int_{|z-y|<\delta} \int_0^1 (2T(x,r) - T(2x,r))P(r,y,z)\psi_y^2(z)e^{-z^2} dr dz \\ &\leq \varepsilon H(\psi_y^2; x, y). \end{aligned}$$

If  $|z - y| \geq \delta$ , then  $\frac{(z-y)^2}{\delta^2} \geq 1$  and

$$\begin{aligned} |I_2| &\leq \frac{M}{\delta^2} \int_{|z-y|\geq\delta} \int_0^1 (2T(x,r) - T(2x,r))P(r,y,z)\psi_y^4(z)e^{-z^2} dr dz \\ &\leq \frac{M}{\delta^2} H(\psi_y^4; x, y). \end{aligned}$$

It follows that

$$\frac{|H(\phi(t, y)\psi_y^2; x, y)|}{x^2} \leq \varepsilon \frac{H(\psi_y^2; x, y)}{x^2} + \frac{M}{\delta^2} \frac{H(\psi_y^4; x, y)}{x^2}.$$

By Lemma 2.3 we have (5) and the proof is completed.

#### COROLLARY 3.2

If the function  $f$  verifies the assumptions of Theorem 3.1, then

$$H(f; x, y) - f(y) = O(x^2) \quad \text{as } x \rightarrow 0^+.$$

Using the same method we obtain the following result.

#### THEOREM 3.3

Let  $y \in \mathbb{R}_+$ . If  $f \in L^\infty(\mathbb{R}_+)$  and  $f$  is a continuous, differentiable function in the certain neighbourhood of the point  $y \in \mathbb{R}_+$ , and  $f''(y)$  exists, then

$$\lim_{x \rightarrow 0^+} \frac{L(f; x, y) - f(y)}{x^2} = (\alpha + 1 - y)f'(y) + yf''(y)$$

and

$$L(f; x, y) - f(y) = O(x^2) \quad \text{as } x \rightarrow 0^+.$$

## References

- [1] O. Duman, M.A. Özarslan, *Szász-Mirakjan type operators providing a better error estimation*, Appl. Math. Lett. **20** (2007), 1184–1188.
- [2] G. Krech, *On the rate of convergence theorem for the alternate Poisson integrals for Hermite and Laguerre expansions*, Ann. Acad. Pedagog. Crac. Stud. Math. **4** (2004), 103–110.
- [3] N.N. Lebedev, *Special functions and their applications*, Revised edition, Dover Publications, Inc., New York, 1972.



- [4] B. Muckenhoupt, *Poisson integrals for Hermite and Laguerre expansions*, Trans. Amer. Math. Soc. **139** (1969), 231–242.
- [5] M.A. Özarslan, O. Duman, *Approximation properties of Poisson integrals for orthogonal expansions*, Taiwanese J. Math. **12** (2008), 1147–1163.
- [6] G. Szegő, *Orthogonal polynomials*, American Mathematical Society Colloquium Publications, v. 23, American Mathematical Society, New York, 1939.
- [7] G. Toczek, E. Wachnicki, *On the rate of convergence and the Voronovskaya theorem for the Poisson integrals for Hermite and Laguerre expansions*, J. Approx. Theory **116** (2002), 113–125.
- [8] D.K. Verma, V. Gupta, P.N. Agrawal, *Some approximation properties of Baskakov-Durrmeyer-Stancu operators*, Appl. Math. Comput. **218** (2012), 6549–6556.

*Institute of Mathematics  
Pedagogical University  
Podchorążych 2, PL-30-084 Kraków  
Poland  
E-mail: gtoczek@up.krakow.pl,  
euwachni@up.krakow.pl*

*Received: November 16, 2012; final version: January 23, 2013;  
available online: March 18, 2013.*